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  )ن 8(   : 2	���� 
 ��
� ا��را�� ا���ا��� ُ��َ���
���� ا��وا�� وا������ ����  

���  .*(آ� ا��وران '�% #"�ر ا��وا&��% و#"�ر ا�
!�� ا� �
  إ�8 ، ا��(567 '�"�ر ا��وا&��%، 1ا��و�3 ا��"(ك 1� �0د أ&-,ن�
 18,-& )Z1=18( .36@ ���ا ، �?�د ه=> ا��را��،; :  رآA�ُ  

 ,��B0ا��و�3 ا� �
�� �"(ك ��ور �!���63 �?�Cد �ل آDE دورة.  
� ا��را�� ا���ا���؟ - أ�   ��,ذا ُ���
�� ه=ا ا��-I��� JK� *(آ� ا��وران 

�&�ري ا��و�#
�  "ن ����'#��
�,�' +* ا��را(� ���از�
� و� '�
  ،وآ.�- +
  .���, �ـ@ ) ا�ُ�;#: ��9 ا��وا�7
�(ا56�7ل آ� ا�3,� ا��12*  

  :��=ا ا��-�6�O JK  ا����I� أ*�3ُ - ب
  1/4=  N1 ) /  N1 x1/4 =( N1 / N2=1_ 2 K  

  ؟  أ*�3 �0د ا��ورات ا��� ��وره, #"�ر ا�
!�� ا� ����-ج
 ,-���  N2 = (1/4) x N1  

 N2 = (1/4) x 36إذن   
  tr /minN2 9=إذن   

  
  

  

 YZ��ُ ا�VX� �O %# %V�7ُ �����* �')0 W6O,?� ا��
�ن ا���� (ج #% ',U% اTرض   
,�' 567)#. M � ا��-,�J ،�7"(ك '�ا&D!0 �Aت �7ور '�وران #"( �آ�(',��  ك  

 %# �')
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  ,U�\B#�6ا أ، و� ��0-�#,  ��ورانا��"(ك  h  -  ]Z���,' �')
  ،��Vن 01-� �7ا�� ا�

 . D   �CDAO^8 زر ا�0 �#,
�B\5 ا�  
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('� إ�8 -  
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    M : و#�\�( ا� (وج   h , g, D        : #�\�(ات ا���Eل     
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؟  M ا&�-�h #% ��ول ا�"?�?�  ا��
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